_Cheval EAB SERIES: Heatsink Aluminum Enclos

EAB SERIES EAB Models and Dimensions

Pic. 1 Table For side frame 1U and 2U
! Dimension unit mm. Net Weight |  Shipping
No. MODEL
“A? «p» “c» [kg] Weight [kg]
1 EAB 1.0-100W-200D 100 41 200 045 0.49
2 EAB 1.0-100W-300D 100 41 300 0.62 0.67
3 EAB 1.0-100W-400D 100 41 400 0.78 0.86
5 4 EAB 1.0-200W-200D 200 41 200 0.63 078
y 5 EAB 1.0-200W-300D 200 41 300 0.92 1.04
6 EAB 1.0-200W-400D 200 41 400 118 1.32
7 EAB 1.0-300W-200D 300 41 200 0.88 1.00
8 EAB 1.0-300W-300D 300 41 300 1.23 1.38
9 EAB 1.0-300W-400D 300 41 400 157 173
' 10 EAB 2.0-100W-200D 100 86 200 0.58 0.62
1 EAB 2.0-100W-300D 100 86 300 0.79 0.85
e 12 EAB 2.0-100W-400D 100 86 400 1.00 1.08
) A | 13 EAB 2.0-200W-200D 200 86 200 0.85 0.93
' 14 EAB 2.0-200W-300D 200 86 300 115 140
N ] 15 EAB 2.0-200W-400D 200 86 400 145 1.59
@ Pic. 1 16 EAB 2.0-300W-200D 300 86 200 112 124
17 EAB 2.0-300W-300D 300 86 300 1.50 172
; 18 EAB 2.0-300W-400D 300 86 400 1.89 2,05
Note: The head of screw M5x10 phillips is 2.00 mm thick Pic. 2 Table For side frame 3U and 6U
Dimension unit mm. | Net Weight | Shipping
No. MODEL
“A” “B” “c” [kel Weight [ke]
1 EAB 3.0-100W-200D 100 130 200 0.95 0.99
P rOd uct Feat ures: 2 EAB 3.0-100W-300D 100 130 300 1.33 1.38
o 3 EAB 3.0-100W-400D 100 130 400 170 177
. . . 1 4 EAB 3.0-200W-200D 200 130 200 127 1.34
 Extruded heavy duty aluminum (AL 6063) side frames provide s | esomowson | w0 | 0 | e | m | s
6 EAB 3.0-200W-400D 200 130 400 2.19 233
h|gh efﬁciency Coo”ng and Strength ] 7 EAB 3.0-300W-200D 300 130 200 159 1.80
8 EAB 3.0-300W-300D 300 130 300 2.14 240
o MU|t|p|e S|ZeS for any appllcatlon s 9 EAB 3.0-300W-400D 300 130 400 2.69 2.85
E 10 EAB 4.0-100W-200D 100 175 200 128 1.32
. . . . . 1 EAB 4.0-100W-300D 100 175 300 1.80 1.86
- Suitable for wide range of Electronics & Instrument applications. 2 | eapavioowaon | w0 | s | am | 2m | 2w
) 13 EAB 4.0-200W-200D 200 175 200 165 173
° Sl mple and easy tO assembly 14 EAB 4.0-200W-300D 200 175 300 2.26 238
| 15 EAB 4.0-200W-400D 200 175 400 2.86 3.00
° Black Powder Coat Standard Color o 16 EAB 4.0-300W-200D 300 175 200 2.02 2.14
17 EAB 4.0-300W-300D 300 175 300 271 320
18 EAB 4.0-300W-400D 300 175 400 341 3.57
. npn . 19 EAB 5.0-200W-200D 200 219 200 2.05 2.13
: 20 EAB 5.0-200W-300D 200 219 300 281 2.93
| [e @ 21 EAB 5.0-200W-400D 200 219 400 3.57 3.71
i 2 EAB 5.0-300W-200D 300 219 200 247 2.59
éﬂ Pic. 2 23 EAB 5.0-300W-300D 300 219 300 3.32 3.47
‘ 24 EAB 5.0-300W-400D 300 219 400 416 450
® ® 25 EAB 6.0-200W-200D 200 264 200 2.46 2.53
FE
26 EAB 6.0-200W-300D 200 264 300 337 349
Note: The head of screw M5x10 phillips is 2.00 mm thick 2 EAB 6.0-200W-400D 200 264 400 428 442
28 EAB 6.0-300W-200D 300 264 200 2.93 3.05
29 EAB 6.0-300W-300D 300 264 300 3.93 4.08
30 EAB 6.0-300W-400D 300 264 400 492 5.08

International Inquiries : Email: Commce@chevalgrp.com Tel: +66 231 4-5 Fax: +66 2315 1506
www.chevalgrp.com Thailand Inquiries : Email: domestic_sales@chevalgrp.com Tel: +66 2744 1632 Fax: +66 2399 1783 CAG.18.00.008 P

Cheval strives to provide the latest information in all our product literature. Due to our continuous product development program, product appearance, specifications and dimensions may change without notice. To ensure you have the latest information, please contact Cheval or your local representative.




] EAB SERIES: Heatsink Aluminum Enclosure
EAB SERIES

Assembly Guide

User should prepare all component assemblies and complete any modifications
(drilling/punching holes) before assembly.

1. Install @ front/rear panel to @ side frame and secure with 2. Install @ GP Bar kit [option] into the slide rail slot in side frame
@ screw M5x10 phillips 4pcs. and secure with GP bar position by screw M3x6 phillips.

We advice to install user components at this stage. Our GP Bar Kits

Descri ption Q’ty are ideal for this purpose, but user ca prepare their own method
1. Side Frame 2]
2. Top/Bottom Cover 2]
3. Front/Rear Panel 2]
4. Screw M5x10 Phillips [8]
5. Rubber Feet [4]

General Purpose Bar kit [GP Bar] option

3. Slide the @ top/bottom covers into the side frame slots. 4. Install @ front/rear cover and secure with @ screw M5x10
GP Bar Profile phillips 4pcs.

GP Bar Large side : GP Bar L
for EAB3.0, EAB4.0,EAB5.0 g B

and EABG6.0

e GP Bar Small side : GP Bar S
NN for EAB1.0 and EAB2.0

GP Bar kit (L or S) consist of Q’ty
1. GP Bar (L or S) [2]
2. GP bracket [4]
3. Screw M3x6 phillips [4] K| D
4. Nut OB M3 [1 2] 5. Place the @ rubber feet 4pcs. at the bottom side of EAB box. 6. Completed Assembly.
Note: GP Bar length relates to the width [*A” dimension] *** clean surface before placing rubber foot.
when you order pls tell us GP Bar profile and the width such as “GP-S Bar 100W or GP-L Bar 200W” Isopropy! Alcohol 70% is recommended ***

International Inquiries : Email: Commce@chevalgrp.com Tel: +66 2315 1504-5 Fax: +66 2315 1506

www.chevalgrp.com Thailand Inquiries : Email: domestic_sales@chevalgrp.com Tel: +66 2744 1632 Fax: +66 2399 1783 CAG.18.00.008  P.2/2

E . Cheval strives to provide the latest information in all our product literature. Due to our continuous product development program, product appearance, specifications and dimensions may change without notice. To ensure you have the latest information, please contact Cheval or your local representative.




